

Ejercicios de leyes de los signos:

1) $(-6) + (-8) =$

2) $(+5) + (+12) =$

3) $(34) + (16) =$

4) $(-12) + (-15) + (-6) =$

5) $(-4) + (-8) + (-6) + (-2) =$

1) $(-5) - (-8) =$

2) $(-9) - (+6) =$

3) $(-9) - (+12) =$

4) $(+6) - (+4) =$

5) $(+10) - (+7) =$

1) $(+13) + (+19) + (+6) + (+5) =$

2) $(-8) + (-15) + (-9) + (-6) =$

3) $(-5) + (-3) + (-8) + (-7) =$

4) $(-1) + (-9) + (-12) + (-8) =$

5) $(8) + (+3) + (11) + (+9) =$

1) $(+15) - (-9) =$

2) $(-6) - (-6) =$

3) $(24) - (15) =$

4) $(-3) - (+3) =$

5) $(14) - (+17) =$

$$1) (-7)(-4)=$$

$$2) (8)(-3)=$$

$$3) (-6)(+5)=$$

$$4) (12)(-5)=$$

$$5) (160)(3)=$$

$$1) (-6)(-1)=$$

$$2) (-6)(-8)=$$

$$3) (4)(-3)=$$

$$4) (0)(5)=$$

$$5) (9)(-4)=$$

$$1) (54) \div (-3)=$$

$$2) (200) \div (-40)=$$

$$3) (80) \div (-16)=$$

$$4) (210) \div (-70)=$$

$$5) (54) \div (1)=$$

$$1) (236) \div (-27)=$$

$$2) (-1247) \div (367)=$$

$$3) (-8754) \div (-39)=$$

$$4) (5684) \div (-673)=$$

$$5) (3578) \div (231)=$$

$$1) -6 + \{ 3 - [4 - 2(4 - 7)] \} =$$

$$2) 8 - \{ 5 - 4[-6 + 7(5 - 2) - 3] \} =$$

$$3) -\{ -6 + 4[2 - 5(4 - 3(4 - 3) + 2(7 - 3))] + 2 \} - 1 =$$

$$4) 6 - [4 - 3(4 - 2)] - \{ 7 - 5[4 - 2(7 - 2)] \} =$$

$$5) -2 + \{ -3 - [7 + 4(-2 + 5)] \} - 4 =$$

$$1) 12 + 3\{-6 + 2[5 - 4(3 - 2) + 5(7 - 8)] - 5\}$$

$$2) -2(-7 + 11) - 5 - \{-2 + (-3 + 5) - [4 - (2 + 3)]\} =$$

$$3) -11 + 7 - 2\{-4 + 1 - [-2(-3 + 4) - 2 + 4 + 7 - 8] - 4\} =$$

$$4) (-9 + 5) - [(9 + 8) - (9 - 17)] =$$

$$5) 8(6 - 4) - [7(8 + 3) - (-3 - 7)] =$$

$$6) (5 + 9) - (-4 - 7 - 2) + [5(-4) + 3(2 - 1)] =$$

